Figure S1 Forest plots showing differences in blood pressure (BP) variables between
those on beta-blockers (reference group) and those on other antihypertensives.
ACEIl = Angiotensin converting enzyme inhibitor; ARB = Angiotensin
receptor blocker; BB = Beta-blocker; CCB = Calcium channel blocker; D =

Diuretic.



Calcium channel blockers versus beta-blockers

a) Brachial systolic BP (mmHg)

CcCB BB Mean Difference Mean Difference
Study or Subgroup Mean S0 Total Mean SD Total Weight IV, Random, 85% CI IV, Random, 95% CI
BB vs CCB 136,28 1799 125 137.11 17.99 134 38.8% -0.83[-5.21, 3.55]
ACEIRB vs ACEIICCB 140,91 18.23 81 138.09 18.23 73 227% 2.82[-2.95, 8.59]
D/EB vs DICCB 137.7 16.87 34 1431 16.87 54 14.5%  -5.40[-12.64, 1.84]
D/ACEIRB vs DIACENCCB  131.98 1957 108 1324 19.57 82 239% -0.41 [-6.03, 5.21]
Total (35% CI) 348 343 100.0% -0.56 [-3.34, 2.21]
Heterogeneity: Tau® = 0.15; Chi* = 3.0, df = 3 (P = 0.38); F = 2% _150 —i.i 6 é 1I0
Test for overall effect: Z = 0.40 (P = 0.69) Favours CCB Favours BB
b) Brachial diastolic BP (mmHg)
CcCB BB Mean Difference Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI 1V, Random, 95% CI
BB vs CCB 7926 938 125 7939 938 134 43.0% -0.13[-2.42, 2.16]
ACENBB vs ACEI'CCB 7411 am 81 7425 9.9 73 229% <0.14 [-3.27, 2.99]
DV/BB vs DICCB 78,72 10.83 34 78.73 10.83 54 10.4% -2.01[-6.66, 2.64] ol
DVACENBB vs DIACEVCCB 7389 107 108 7417 107 82 238% -0.28 [-3.35, 2.79]
Total (95% CI) 348 343 100.0% -0.36 [-1.86, 1.13]
Heterogeneity: Tau® = 0.00; Chi2 = 0.54, df =3 (P = 0.91); P = 0% _L —IZ il'l é i
Test for overall effect: Z = 0.48 (P = 0.63) Favours CCB  Favours B
c) Aortic systolic BP (mmHg)
cCB BB Mean Difference Mean Difference
Study or Subgroup Mean SD Teotal Mean SD Total Weight IV, Randem, 95% CI IV, Randeom, 95% CI
BB vs CCB 12922 17.27 125 131567 17.27 134 406% -2.35 [-6.56, 1.86]
ACEIRB vs ACEIICCB 130,31 17.98 a1 130 17.98 73 22.2% 0.31[-5.38, 6.00]
D/EB vs D/CCB 128.72 16.84 34 1351 16.84 54 138% -6.38[1261,085 — = [
D/IACEIBB vs DIACENCCB  121.51 19.2% 108 123.86 19.29 82 234% -2.35 [-7.89, 3.19] - =
Total (35% Cl} 348 343 100.0%  -2.31[4.99, 0.37] -
Heterogeneity: Tau? = 0.00; Chi2= 2,03, df =3 (P = 0.57);, B =0% _1|0 —IE ! 55 1I0
Test for overall effect: Z = 1.69 (P =0.09) Favours CCB Favours BB
d) Augmentation index
CCB BB Mean Difference Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% CI
BB vs CCB 3013 147 125 3481 1147 134 36.0% -4.68 [-7.48, -1.88)] — &
ACEIRB vs ACEI'CCB 2431 117 81 2584 1117 73 23.8% -1.53 [-5.086, 2.00] L
DVBEB vs DICCB 41,69 1042 34 4448 1042 54 15.5% -2.80 [-7.27, 1.67] - 1
D/ACENBB vs DIACENCCB 2185 1207 108 27.38 1207 82  24.7% -5.73[-9.20,-226) — =
Total (95% CI) 348 343 100.0%  -3.90 [-5.71, -2.08] e
Heterogeneity: Tau? = 0.35; Chi?=3.33,df= 3 (P = 0.34); P = 10% 4:4 '2 5 -2 i
Test for overall effect: Z = 4.21 (P < 0.0001) Favours CCB Favours BB
e) loge(excess pressure integral [mmHg.s])
cCB BB Mean Difference Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% CI
BB vs CCB 128 04 125 141 04 134 40.7% -0.13 [-0.23, -0.03] =
ACEI/BB vs ACEIICCB 1.38 0.41 81 143 041 73 23.0% -0.05 [-0.18, 0.08] — T
D/BB vs DICCB 141 044 34 154 044 54 10.9% -0.13 [-0.32, 0.08] 1
D/ACEIBB vs D/ACEICCB 1.4 043 108 1.5 043 82 254% -0.10 [-D.22, 0.02] — &
Total (95% CI) 348 343 100.0%  -0.10 [-0.17, -0.04] <
Heterf‘ugeneity: T?fu‘ = 0.?0; ;hiz =_1 02, :F= 3(P=080)1F=0% o8 obs ! TR
Test for overall effect: Z = 3.28 (P = 0.001) Favours CCB Favours BB
f) Backward pressure amplitude (mmHg)
cCcB BB Mean Difference Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% CI
(B vs CCB 21.39 662 125 2389 662 134 36.9% -2.50 [-4.11, -0.89] —
ACEIBB vs ACElICCB 2213 823 81 2346 623 73 24.8% -1.33 [-3.30, 0.64] - =1
D/BB vs DICCB 23.76 7 34 2571 7 54 10.7% -1.85[-4951.05] —— = [
D/ACEIBE vs D/IACEICCB 19861 65 108 2214 6.5 82 27.6% -2.53 [-4.40, -0.66] —
Total (35% CI) 348 343 100.0%  -2.16 [-3.14, -1.18] e
Heterogeneity: Tau? = 0.00; Chi* = 1.02, df = 3 (P = 0.80); I = 0% L

Test for overall effect: Z = 4.32 (P < 0.0001)

Favours CCB  Favours BB



g) Reflection index (x 10°)

Test for overall effect: £ = 4.38 (P < 0.0001)

CCB BB Mean Difference Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% CI
BB vs CCB 378 32 125 399 32 134 42.8% -21.00[-28.80,-13.20) — H—
ACEI/BB vs ACEI/CCB Jg2 33 81 377 33 73 23.9% -15.00 [-25.44, -4.56] - =
D/BEB vs D/CCB 396 40 34 407 40 54  88%  -11.00[-28.16, 6.16] = I
D/ACEI/BB vs D/ACEICCB 351 36 108 373 36 82 24.4% -22.00[-32.33,-11.67] — =
Total (95% CI) 348 343 100.0% -18.92 [-24.03, -13.82] L 2
e 2 = . 2 = = - .12 = Ao | | 1 |
Hele;clgeneﬂy. T:f: = 0.?0, Chi —<1 A7, df =3 (P=0.58), P=0% -2|D —‘iD ! ‘IID 2|0
Test for overall effect: Z = 7.27 (P < 0.00001) Favours CCB  Favours PB
h) Pulse wave velocity (m/s)
ccB BB Mean Difference Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% CI
BB vs CCB 994 087 125 998 087 134 32.0% -0.04 [-0.25, 0.17] —
ACEIBB vs ACElICCB 1045 075 81 1034 075 73 256% 0.11[-0.13, 0.35] -1 =
D/BEB vs DICCB 10.23 072 34 104 072 54 151% -0.17 [-0.48, 0.14] - = 1
D/ACEIBE vs D/IACEICCB 963 0.8 108 9865 08 82 27.3% -0.02 [-0.25, 0.21]
Total (95% CI) 348 343 100.0% -0.02 [-0.14, 0.10]
Hete;ugeneity: T?fu‘ = 0.906 ggi‘ =_2.DQ. df =3 (P=0.55), F=0% _0'_5 —EII_|25 {'J 0.'25 DI.E
Test for overall effect: Z = 0.26 (P = 0.80) Favours CCB Favours BB
ACE inhibitors versus beta-blockers
a) Brachial systolic BP (mmHg)
ACEI BB Mean Difference Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% CI
BB vs ACEI 138.35 18.81 355 138.88 1881 134 65.5% -0.53 [-4.27, 3.21]
D/BEB vs D/ACEI 131.27 17.11 199 13276 17.1 54 34.5% -1.49 [-6.64, 3.66] L
Total (95% CI) 554 188 100.0%  -0.86 [-3.89, 2.16] 4
Heterogeneity: Tau? = 0.00; Chi* = 0.09, df = 1 (P = 0.77); I = 0% —
Test for overall effect: Z = 0.56 (P = 0.58) 4 2 0 2 4
) : ’ Favours ACE|l Favours B
b) Brachial diastolic BP (mmHg)
ACEI BB Mean Difference Mean Difference
Study or Subgroup  Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% CI
BB vs ACEI 79.85 1033 355 7953 1033 134 694% 0.32 [-1.73, 2.37]
D/BB vs DIACEI 80.31 10.28 199 80.33 10.28 54 306% -0.02 [-3.11, 3.07]
Total (95% CI) 554 188 100.0% 0.22 [-1.49, 1.93]
Heterogeneity: Tau? = 0.00; Chi? = 0.03, df = 1 (P = 0.86); I = 0% l l J f l
Test for overall effect: £ = 0.25 (P = 0.80) 4 -2 0 2 4
es : ' * Favours ACEl Favours B
c) Aortic systolic BP (mmHg)
ACEI 1121 Mean Difference Mean Difference
Study or Subgroup Mean S50 Total Mean 50 Total Weight IV, Random, 95% CI IV, Randem, 35% CI
PE vs ACE 130,88 1832 135 13219 1832 361 65.9% 1,31 [4.93, 2.31) —u—
LVEE vs DVACEI 123.52 17.23 2% 12612 1723 188 331% -2.80[-7.74, 2.54] L]
Total (95% CI) 190 560 100.0% -1.74 [-4.70, 1.22] ———
Heterogenelty: Tau® = 0,00; Chi* = 016, df = 1 (P = 0.89); ¥ = 0% _L |2 ’ é i
Tas! for overall effect: £ =115 (P = 0.25) Eavours ACEI Favours BB
d) Augmentation index
ACEI BB Mean Difference Mean Difference
Study or Subgroup  Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% CI
BB vs ACEI 31.68 1138 355 36.39 1138 134 67.8% -471[-6.97,-245 — I —
D/BB vs D/ACEI 341 109 199 3711 109 54 322% -3.01 [-6.29, 0.27] I —
Total (95% CI) 554 188 100.0%  -4.16 [-6.02, -2.30] -
Heterogeneity: Tau? = 0.00; Chi* = 0.70, df = 1 (P = 0.40); I* = 0% —t ’

4 2
Favours ACEI

0

|
2 4
Favours BB



e) loge(excess pressure integral [mmHg.s])

[1:] ACEI Mean Difference Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% CI
BB vs ACEI 1.34 0.39 355 143 039 134 63.0% -0.09 [-0.17, -0.01] —il—
D/BB vs DIACEI 1.3 037 199 147 037 54  37.0% -0.17 [-0.28, -0.08] L]
Total (95% Cl) 554 188 100.0%  -0.12 [-0.20, -0.04] ~a
i = 2= N 2= = = -2 = a, } } } }
Heterogeneity: Tau® = 0.00; Chi® = 1.34, df = 1 (P = 0.25); I* = 25% -OI.E .ﬁ|_1 5 Df1 sz

Test for overall effect: Z = 3.10 (P = 0.002)
f) Backward pressure amplitude (mmHg)

Favours ACEI Favours B

Mean Difference

ACEI BB Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% CI
BB vs ACEI 22.89 6.21 355 2478 6.21 134 T70.5% -1.89 [-3.12, -0.66] _._
D/BB vs D/ACEI 1961 6.35 199 20.89 6.35 54  29.5% -1.28[-3.19,063) — = [
Total (95% CI) 554 188 100.0%  -1.71[-2.75, -0.67] el
Heterogeneity: Tau? = 0.00; Chi? = 0.28, df = 1 (P = 0.60); 7= 0% '2 '1 5 1- ‘,'2
Test for overall effect: Z = 3.23 (P = 0.001) Favours ACE| Favours B

g) Reflection index (x 1073)

ACEI BB Mean Difference Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight [V, Random, 95% CI IV, Random, 95% CI
BB vs ACEI 400 34 355 415 34 134 68.3% -15.00[-21.76,-8.24] ——
D/BB vs D/ACEI 387 33 199 399 33 54 31.7% -12.00[-21.92,-208) — & ——
Total (95% Cl) 554 188 100.0% -14.05[-19.63, -8.46] e

ity: Tau? = 0.00; Chi* = 0.24, df = 1 (P = 0.62); I? = 0% ' ' ' '
Heterogeneity: Tau? = 0.00; Chi* = 0.24, di =1 ( 0.62); 17 = 0% _2|0 _1|0 o 1|0 2|0
Test for overall effect: Z=4.93 (P < 0.00001) Favours ACE| Favours BB

h) Pulse wave velocity (m/s)
BB ACEI| Mean Difference Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% CI
BB vs ACEI 946 08 355 947 08 134 668% -0.01 [-0.17, 0.15]
D/BB vs D/ACEI 9.47 075 199 947 075 54 33.2% 0.00 [-0.23, 0.23]
Total (95% CI) 554 188 100.0%  -0.01 [-0.14, 0.12]

AT 2= . ?= = = -2 = 0% t } } }
Heterogeneity: Tau® = 0.00; Chi* = 0.01, df =1 (P =0.94); I? = 0% _0'_2 _0'_1 EIJ 0'_1 G.IZ
Test for overall effect: Z = 0.10 (F = 0.92) Favours ACE| Favours B

Diuretics versus beta-blockers
a) Brachial systolic BP (mmHg)
D Mean Difference Mean Difference
Study or Subgroup Mean 5D Total Mean SD Total Weight IV, Random, 95% CI IV, Randem, 95% CI
BB ws D 141.99 20.23 86 14024 2023 134 357% 1.75 [-3.73, 7.23] L E—
ACEI/BB vs ACEIID 13757 186 199 13343 186 T3 43.0% 4.14 [-0.85, 9.13] —
CCB/ACEIBB vs CCB/ACEID 141.39 2004 108 143,22 20.04 43 21.3% -1.83 [-8.91, 5.25] =
Total (95% CI) 393 250 100.0%  2.01[-1.26, 5.29] =i
Heterogeneity: Tau? = 0.00; Chi* = 1.84, df = 2 (P = 0.40); ¥ = 0% «:t 2 3 2 ji
Test for overall effect: £ = 1.21 (P = 0.23) Favours D Favours BB
b) Brachial diastolic BP (mmHg)
D BB Mean Difference Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight IV, Randem, 95% CI IV, Random, 85% CI
EBvs D 64.24 171 B6 64.84 171 134 29.5% -0.60 [-5.23, 4.03]
ACEIBB vs ACEID 6246 1379 199 61.39 1379 73 46.3% 1.07 [-2.63, 4.77]
CCB/ACEIRB vs CCB/ACEID B4 32 1448 108 B6.08 1448 43 242% -1.76 [-6.88, 3.36]
Total (95% CI) 393 250 100.0% -0.11 [-2.62, 2.41]
Heterogeneity: Tau® = 0.00; Chi* = 0.83, df = 2 (P = 0.66); I = 0% e & 3 3 i

Test for overall effect: 7= 0.08 (P = 0.93)

Favours D Favours B



c) Aortic systolic BP (mmHg)
D

BB Mean Difference Mean Difference
Study or Subgroup Mean SD Total Mean SD Teotal Weight IV, Random, 35% CI IV, Random, 95% €I
BB wvs D 135.24 18.79 BE 133.81 1879 134 36.9% 163 [-3.46, 6.72) i
ACENBE vs ACEIID 120.9 18.57 199 126.28 18.57 73 37.6% 3.62 [-1.36, B.60] T

CCB/ACEIBB vs CCB/ACEID 13223 1996 108 137.06 19.98 43 255%  -4.B3[-11.88,222) — &

Total (95% CI) 393 250 100.0%  0.73 [-3.70, 5.17] -’-—

Heterogeneity: Tauw? = 7.13; Chi* = 3.74, df = 2 (P = 0.15); P = 4T% _1'0 '5 EI) ,r') 1'0

Test for overall effect: 7 =032 (P =0.75) Favours D Favours BB

d) Augmentation index

D BB Mean Difference Mean Difference
Study or Subgroup Mean 50 Total Mean 50 Total Weight IV, Random, 95% CI| IV, Random, 55% CI
BEwa D 2973 1348 A6 3435 1348 134 333% -4 62 [-8.27, -0.87) —
ACEIRE vs ACEID 2742 115 199 2755 115 T3 355% -0.13 [-3.21, 2.95]
COBACENRE v CCRACEND 2108 E 108 2898 118 43 31.2% 792 [-12.09, -3.75] —
Total [(95% CI) 393 250 100.0% -4.05 [-8.55, 0.44]
Heterogeneity: Taw® = 12 31; Ch = 926, df = 2 (F = 0.010); B = T8% t t 1 t —
Tast for overall effect: Z= 1.77 (P = 0.08) o= o 5 o
1 T . Favours D Favours BB
e) loge(excess pressure integral [mmHg.s])
D BB Mean Difference Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% CI
BEwsD 142 043 B 1.53 043 134 32.6% -0.11 [-0.23, 0.01] S E—
ACEIBB vs ACEID 1.3 036 199 1.37 0.36 73 474% -0.07 [-0.17, 0.03] —
CCB/ACEIBE vs CCB/ACEID 141 042 108 1.49 042 43 20.0% -0.08[-023, 007 — &1
Total (95% CI) 393 250 100.0%  -0.09 [-0.15, -0.02] -
ity: Tau® = 0.00: Chi* = =2(P= 2= | } : :
Hete;ageneny T?fu . L‘J?Dz Chi ; _0.02?. df =2 (P =087); 1*=0% 02 01 1 01 02
Test for overall effect: Z=2.51 (P =0.01) Favours D Favours BB
f) Backward pressure amplitude (mmHg)
o RE Maan Difference Mean Differance
Study er Subgreup Mean 50 Tetal Mean 5D Total Weight IV, Randem, 95% CI IV, Randeom, 95% CI
GBwsD 2325 743 BE 2443 T43 134 33.0% -1.24 [-3.25, 0.77]
ACEVRE vs ACEND 2075 B84 109 2083 664 T3 36.6% =090 [-1.88, 1.68]
COBACEVRB vs COBAMCEND 3007 622 108 2325 622 43 30.4% 318 [-5.38, -0.98 — @ ——
Tolal (95% CI) 393 250 100.0% -1.41 [-3,15, 0.32]
Halorogeneity: Tau® = 1.32; Chi* = 4.88, df =2 (P = 0.10); P = 56% t f f t t
Test all effect Z = 1.60 (P =0.11) IR
wsl for overall effect £= 1.60 (F =0.11) Eavours 0 Favours 5B

g) Reflection index (x 10°%)
]

BB Mean Difference Mean Difference

Study or Subgroup Mean 5D Total Mean SD Total Weight IV, Random, 85% CI IV, Random, 95% CI
BBwsD 400 33 BG 408 33 134 35.0% -9.00 [-17.94, -0.06] L
ACEVEE vs ACEID T4 M 199 382 34 T3 3.6% 8,00 [-17.12,1.12] L
COBWCENRE ve COBACEND g3 32 108 Jaa 32 43 30,4% 26.00 [-37.31, -14.69) —
Total (25% Cl) 333 250 100.0% -13.82 [-24.33, -3.31] e

it 2= - Chit = =3P =003 1F=T71% + + + +
Hsterogensity: Taw® = 61.39; Chi* =699 df=2 (P =003 F=T1 30 40 0 10 20

Test for overall effect: £ = 2.58 (P = 0.010} Favours D Favours BB

h) Pulse wave velocity (m/s)

4] EE Maan Difference Mean Difference

Study or Subgroup Mean 5D Total Mean SD Total Weight IV, Random, 95% C| IV, Random, 95% CI
GBwsD 100E 0.8 BE 983 091 134 330% 013 [-0.12, 0.38] —
ACEVRB vs ACEID 882 0B 183 963 O8 73 426% 0.23 [0.0Z, 0.44] — &
COBACENRE vs COBMACENTD 9894 42 108 988 082 43 24.4% 004 [-0.33, 0.235] I R
Taolal {95% CI) 393 250 100.0% 0.13 [-0.02, D.28] T

iby: 7= it = = = CR=TY +— —+
Haterogensity: Tau® = 0.00; Chi* = 215, df = 2 (P = 0.34); T 02010 0402

Test for overall effect: Z=1.75 (P = 0.08) Favours 0 Favours BB



Angiotensin receptor blockers versus beta-blockers

a) Brachial systolic BP (mmHg)
] ARB

Mean Difference

Mean Difference

Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% CI

BB vs ARB 139.87 18.93 77 13528 1893 134 59.3% 4.59 [-0.72, 9.90] i
D/PB vs D/IARB 1401 161 44 13845 161 54 407% 1.65 [-4.76, 8.06] —
Total (95% Cl) 121 188 100.0% 3.39 [-0.69, 7.48] e aund
Heterogeneity: Tau? = 0.00; Chiz = 0.48, df = 1 (P = 0.49); I = 0% -*fo |5 ! I 150

Test for overall effect: £ = 1.63 (P = 0.10)

b) Brachial diastolic BP (mmHg)
BB

Favours ARE Favours B

ARB Mean Difference Mean Difference
Study or Subgroup  Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% CI
BB vs ARB 78.86 1025 77 76.08 10.25 134 66.6% 2.78 [-0.09, 5.65] i
DIBE vs D/ARB 76.7  10.2 44 753 10.2 54 334% 1.40 [-2.66, 5.46] L
Total (95% CI) 121 188 100.0% 2.32 [-0.03, 4.66] |~ ——
! ! ! 1

Heterogeneity: Tau? = 0.00; Chi* = 0.30, df = 1 (P = 0.89); I = 0%
Test for overall effect: £=1.94 (P = 0.05)

c) Aortic systolic BP (mmHg)
ARB

Mean Difference
IV, Random, 95% CI

4 2 0 2 4
Favours ARB Favours BB

Mean Difference
IV, Random, 95% CI

BB
Study or Subgroup Mean SD Total Mean SD Total Weight
BB vs ARB 132.24 17.99 77 12916 17.99 134 59.1%
D/EB vs D/IARB 131.14 15.22 44 131 15.22 54  40.9%
Total (95% CI) 121 188 100.0%

Heterogeneity: Tau® = 0.00; Chi* = 0.53, df =1 (P = 0.46); I’ =0%
Test for overall effect: Z = 0.95 (P = 0.34)

d) Augmentation index

3.08 [-1.96, 8.12)
0.14 [-5.92, 6.20]

1.88 [-2.00, 5.75]

4 2 0 2 4
Favours ARB Favours BB

ARB BB Mean Difference Mean Difference
Study or Subgroup  Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% CI
BB vs ARB 3454 1157 77 4116 1157 134 604%  -6.62[9.86 -338 —W—
D/BE vs DIARB 3483 1006 44 38.86 1006 54 396%  -4.03[-8.03,-0.03] —
Total (95% CI) 121 188 100.0%  -5.59 [-8.11, -3.07] o
Heterogeneity: Tau? = 0.00; Chi? = 0.97, df = 1 (P = 0.32); I = 0% -Im '5 5 '5 10’

Test for overall effect: Z = 4.35 (P < 0.0001)

e) loge(excess pressure integral [mmHg.s])

Favours ARB Favours B

ARB BB Mean Difference Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% CI
BB vs ARB 1.37 0.39 77 149 039 134 68.0% -0.12 [-0.23, -0.01] —il—
D/BB vs D/ARB 135 04 44 151 04 54 32.0% -0.16[-0.32,-0.00] — @
Total (95% ClI) 121 188 100.0%  -0.13 [-0.22, -0.04] ~ai—

Heterogeneity: Tau® = 0.00; Chi* = 0.16, df = 1 (P = 0.68); I = 0%
Test for overall effect: Z = 2.89 (P = 0.004)

f) Backward pressure amplitude (mmHg)

02 01 0 01 02
Favours ARB Favours BB

ARB BB Mean Difference Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% CI
BB vs ARB 2447 665 135 25.84 6.65 77 B64.7% -1.37 [-3.23, 0.49] | I
D/pB vs D/ARB 2365 6.39 55 2468 6.39 45  35.3% -1.03 [-3.55, 1.49] L
Total (95% CI) 190 122 100.0%  -1.25 [-2.75, 0.25] et
} } }

Heteregeneity: Tau® = 0.00; Chi* = 0.05, df =1 (P = 0.83); ? = 0%
Test for overall effect: Z = 1.64 (P = 0.10)

2 1 0 1 2
Favours ARB Favours B



g) Reflection index (x 10%)
ARB BB
Study or Subgroup Mean SD Total Mean SD Total Weight

Mean Difference
IV, Random, 95% CI

Mean Difference
IV, Random, 95% CI

BB vs ARB 413 31 77 430 31 134 752% -17.00 [-25.69, -8.31] ——
D/BB vs D/ARB 383 38 44 400 38 54 24.8% -17.00[-32.13,-1.87] — & ——
Total (95% CI) 121 188 100.0% -17.00 [-24.53, -9.47] e

Heterogeneity: Tau? = 0.00; Chi* = 0.00, df =1 (P = 1.00); I?=0%
Test for overall effect: Z = 4.42 (P < 0.00001)

h) Pulse wave velocity (m/s)

| 1 | |
20 10 0 10 20
Favours ARB Favours BB

Mean Difference

ARB BB Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight [V, Random, 95% CI IV, Random, 95% CI
BB vs ARB 9582 0.83 135 96 083 77 57.1% 0.22 [-0.01, 0.45] —
D/BB vs D/ARB 10.31 0.68 55 10.19 068 45 42.9% 0.12 [-0.15, 0.39] —
Total (95% Cl) 190 122 100.0% 0.18 [0.00, 0.35] e —

Heterogeneity: Tau® = 0.00; Chi* = 0.31, df =1 (P =0.58); 7 = 0%
Test for overall effect: Z = 1,98 (F = 0.05)
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